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1. 1,5 pts

  

  

  

  

  

2.Puisque [FA) est la bissectrice de {tex}widehat{EFG}{/tex} alors {tex}widehat{AFG}{/tex} est la
moitié de {tex}widehat{EFG}{/tex} de même
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Puisque [GA) est la bissectrice de {tex}widehat{EGF}{/tex} alors {tex}widehat{AGF}{/tex} est la
moitié de {tex}widehat{EGF}{/tex}

  

{tex}widehat{EFG}+widehat{EGF}=90°{/tex} donc
{tex}frac{widehat{EFG}+widehat{EGF}}{2}=frac{90°}{2}=45°{/tex}

  

  

0r
{tex}widehat{FAG}+frac{widehate{EGF}}{2}+frac{widehat{EFG}}{2}=widehat{FAG}+frac{widehat
{EFG}+widehat{EGF}}{2}=180°{/tex}

  

  

Donc {tex}widehat{FAG}=180°-45°=135°{/tex} 1,5 pts
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